
Name:_______________________________ 
 

Pd____Date_______________ 
 

Module 5.1-5.3 
Slope-Intercept MINI QUIZ  

1)	
  	
  	
  
	
  
	
  
	
  
Slope	
  (m):__________	
  	
  y-­‐int	
  (b):_________	
  
	
  
	
  
Equation:_______________________________	
  
	
  
	
  
	
  
	
  
	
  
	
  

2)	
  	
  
	
  

X -8 -4 0 4 8 

y -1 2 5 8 11 
	
  
	
  
Slope	
  (m):__________	
  	
  y-­‐int	
  (b):_________	
  
	
  
Equation:_______________________________	
  
	
  
	
  
3)	
  (-­‐5,	
  2)	
  &	
  (0,	
  6)	
  
	
  
Slope	
  (m):__________	
  	
  y-­‐int	
  (b):_________	
  
	
  
Equation:_______________________________	
  



Name:________________________ 
 

Pd____Date____________ 
 

Linear Equations – Graphs 
 

 
Slope	
  m:_________	
  	
  y-­‐intercept	
  b:______	
  
	
  
Equation:_______________________________	
  
 

 
Slope	
  m:_________	
  	
  y-­‐intercept	
  b:______	
  
	
  
Equation:_______________________________	
  
 

 
 

Slope	
  m:_________	
  	
  y-­‐intercept	
  b:______	
  
	
  
Equation:_______________________________	
  
 

 
 

Slope	
  m:_________	
  	
  y-­‐intercept	
  b:______	
  
	
  
Equation:_______________________________	
  
 



Name:____________________ 
 

Pd____Date_________ 
 

Linear Equations – Tables 
 

 
 
x -2 0 2 4 
y 3 4 5 6 
 
 
 
 
 
Slope	
  m:_________	
  	
  y-­‐intercept	
  b:______	
  
	
  
Equation:_______________________________	
  
 

 
 
x -1 0 1 2 
y 4 2 0 -2 
 
 
 
 
 
Slope	
  m:_________	
  	
  y-­‐intercept	
  b:______	
  
	
  
Equation:_______________________________	
  
 

 
 
x -1 1 3 5 
y 1 5 9 13 
 
 
 
 
 
Slope	
  m:_________	
  	
  y-­‐intercept	
  b:______	
  
	
  
Equation:_______________________________	
  
 

 
 
x 3 6 9 12 
y 1 3 5 7 
 
 
 
 
 
Slope	
  m:_________	
  	
  y-­‐intercept	
  b:______	
  
	
  
Equation:_______________________________	
  
 



Name:______________________ 
 

Pd____Date_________ 
 

Linear Equations – 2 points 
 

 
(-2, 5) & (0, 4) 

 
 
 
 
 
 
 
 

Slope	
  m:_________	
  	
  y-­‐intercept	
  b:______	
  
	
  
Equation:_______________________________	
  

 

 
(0, -3) & (4, 9) 

 
 
 
 
 
 
 
 

Slope	
  m:_________	
  	
  y-­‐intercept	
  b:______	
  
	
  
Equation:_______________________________	
  
 

 
(-8, 0) & (0, 6) 

 
 
 
 
 
 
 
 

Slope	
  m:_________	
  	
  y-­‐intercept	
  b:______	
  
	
  
Equation:_______________________________	
  
 

 
(-6, 0) & (0, -2) 

 
 
 
 
 
 
 
 

Slope	
  m:_________	
  	
  y-­‐intercept	
  b:______	
  
	
  
Equation:_______________________________	
  
 

	
  


